
TEST DE AUTOEVALUACIÓN 

1) Hallar el valor de: 𝟐𝟎 
SOLUCIÓN: Cualquier número elevado a 0, da 1; por tanto; 

𝟐𝟎 = 𝟏. 

2) Hallar: 𝟑𝟒 · 𝟑𝟑 
34 · 33 = 34+3 = 37 

SOLUCIÓN: 𝟑𝟒 · 𝟑𝟑 = 𝟑𝟕 

3) Hallar: 
𝟓𝟔

𝟓𝟒
 

56

54
= 56−4 = 52 = 25 

SOLUCIÓN: 
𝟓𝟔

𝟓𝟒
= 𝟐𝟓 

4) Hallar: (
𝟒

𝟑
)
𝟑

 

(
4

3
)
3

=
4

3
·
4

3
·
4

3
=
43

33
=
64

27
 

SOLUCIÓN: (
𝟒

𝟑
)
𝟑
=

𝟔𝟒

𝟐𝟕
 

5) Hallar: (𝟑𝟐)
𝟑

 
(32)3 = (32) · (32) · (32) = 32+2+2 = 36 

SOLUCIÓN: (𝟑𝟐)𝟑 = 𝟑𝟔 

6) Hallar: 
(−𝟐)𝟑·𝟓𝟐

𝟐𝟑·𝟓
 

(−2)3 · 52

23 · 5
=
−(23) · 52

23 · 5
= −(23−3) · 52−1 = −(20) · 51 

(−2)3 · 52

23 · 5
= −1 · 5 = −5 

SOLUCIÓN: 
(−𝟐)𝟑·𝟓𝟐

𝟐𝟑·𝟓
= −𝟓 

7) Hallar: (
𝟐𝟐·𝟑

𝟐𝟑·𝟑𝟐
)
𝟐

 



(
22 · 3

23 · 32
)

2

= (22−3 · 31−2)2 = (2−1 · 3−1)2 

(
22 · 3

23 · 32
)

2

= (2−1 · 3−1) · (2−1 · 3−1) = 2−1−1 · 3−1−1 

(
22 · 3

23 · 32
)

2

= 2−2 · 3−2 =
1

22 · 32
=

1

4 · 9
=

1

36
 

SOLUCIÓN: (
𝟐𝟐·𝟑

𝟐𝟑·𝟑𝟐
)
𝟐

=
𝟏

𝟑𝟔
 

8) Hallar: 𝟓𝟐 · 𝟓𝟒 · (
𝟓

𝟓𝟑
)
𝟑

 

52 · 54 · (
5

53
)
3

= 52+4 ·
53

59
= 56 · 53 · 5−9 

52 · 54 · (
5

53
)
3

= 56+3−9 = 50 = 1 

SOLUCIÓN: 𝟓𝟐 · 𝟓𝟒 · (
𝟓

𝟓𝟑
)
𝟑
= 𝟏 

9) Hallar: 
(−𝟑)𝟐

𝟐𝟒
· (

(−𝟐)𝟑

𝟑𝟐
)
𝟐

 

(−3)2

24
· (
(−2)3

32
)

2

=
32

24
· (
−(2)3

32
) · (

−(2)3

32
) 

(−3)2

24
· (
(−2)3

32
)

2

= 23+3−4 · 32−2−2 = 22 · 3−2 =
22

32
=
4

9
 

SOLUCIÓN: 
(−𝟑)𝟐

𝟐𝟒
· (

(−𝟐)𝟑

𝟑𝟐
)
𝟐

=
𝟒

𝟗
 

10) Hallar: (
𝟕𝟐

𝟓𝟑
)
𝟑

· (
𝟓
𝟑
𝟐

𝟕
)

𝟔

 

(
72

53
)

3

· (
5
3
2

7
)

6

=
72·3

53·3
· (

5
3
2·6

71·6
) =

76

59
· (
59

76
) = 59−9 · 76−6 



(
72

53
)

3

· (
5
3
2

7
)

6

= 50 · 70 = 1 · 1 = 1 

SOLUCIÓN: (
𝟕𝟐

𝟓𝟑
)
𝟑

· (
𝟓
𝟑
𝟐

𝟕
)

𝟔

= 𝟏 

 


